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A UAXH D
B QAN (AUDDHY /L)
Sl DIRA 2 CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
101 14 Hl 19,046 19,766 AT20
= 19,046
04 JIZHHZ22XREE S 19,046 19,766 AT20
OWTAR HE&HI|2 2 19,046,000 19,046
= 19,046
IESAHESEAR 13,981 14,775 AT94
= 13,981
201 LBt2E| 12,481 13,275 AT94
= 12,481
01 At 22l 12,481 13,275 AT94
OINESZHSEAR 12,481,000& 12,481
= 12,481
202 04l 1,500 1,500 0
= 1,500
01 = LH YI 1,500 1,500 0
OINEZAHEEAR 1,500, 000& 1,500
= 1,500
EXNHF(ZELXNGMNL/NSL A 1,826,175 507,276 1,318,899
= 124,965
< 32,577
Al 1,668,633
EX 2 1,826,175 507,276 1,318,899
= 124,965
= 32,577
Al 1,668,633
A& 2e 186,622 134,158 52,464
101 14 Hl 17,082 15,898 1,184
04 JIZHHZ2XREE S 17,082 15,898 1,184
OXNFEFLUA BEXRA 17,082
SR 51,7603 x 18 #2332 12,061
oFXtrg 51,7603 » 1 48 2,485
ocXts¢ 51,7603 x 1«11 570
o=0dg S 4HEEZE 15,116,000 x13% 1,966
201 L2l 109,540 80,260 29,280
01 At 22l 101,500 71,500 30,000
OBt~ 11,000, 000& 11,000
o= (S2X 34) 500,000& 500
OXNEEZH FHIAY 90,000,000& 90,000
02 2324l 8,040 8,760 AT20
OXNHZE L MUTHIE ANAHERIES
7,800,000& 7,800
OSSEANTEE HAERXN 28 REESE
240,000& 240




SH: RIRT D
HE: ENHF(FELNANL/NALTAI)

el EXl22 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
207 A& H| 20,000 20,000 0
02 & AR b 20,000 20,000 0
OXNEZS ML BR=E 20,000,000& 20,000
405 RHoHE S HI 40,000 0 40,000
01 AL EFFHSHI 40,000 0 40,000
ORUFTIN(SE)SZAAY 7
40,000,000& 40,000
A= 2 (X) 15,942 0 15,942
= 2,565
< 13,377
101 124 dl 13,442 0 13,442
= 2,565
= 10,877
04 JI2ZHHZ2XREES 13,442 0 13,442
OO0l EXl &a50 ZOotFI| ALY
13,442,000 13,442
= 2,565
< 10,877
201 L2l 2,500 0 2,500
< 2,500
01 At 22l 1,000 0 1,000
O0ISJIl EX &0 FHOt=FI| AtY
1,000, 000& 1,000
< 1,000
02 2322l 1,500 0 1,500
OO0l EXl &a50 Z0otFI| ALY
1,500, 000& 1,500
< 1,500
K& THZE AFALE 1,112,000 20,500 1,091,500
201 LBH2d| 62,000 20,500 41,500
01 At 2t 2l 59,500 19,500 40,000
O el 4,000,000& 4,000
O2&¥&EIG+= 40,000,000& 40,000
O= &l 500,000& 500
OXEMEAN = (For2)
15,000, 000& 15,000
02 =224l 2,500 1,000 1,500
OXNHMEZA S32= 2,500,000& 2,500
301 et a3 1,050,000 0 1,050,000
1MIIEBELSS 1,050,000 0 1,050,000
OXIETHEALALY HEH L 1,050,000, 000& 1,050,000
NETHEAALY =& 136,000 0 136,000
= 122,400
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o2 X = ot

[uid

B EXHE(ELNANL/X AL A
ool Xzl SHol &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 13,600
201 et A | 136,000 0 136,000
= 122,400
T 13,600
01 AFR22t2l Yl 136,000 0 136,000
OKXNEMMEA S =2 136,000,000& 136,000
= 122,400
T 13,600
HE S AKX D22 91,048 94,267 N3,219
101 @121l 17,548 16,267 1,281
04 JI2ZtHI 22 XNESE % 17,548 16,267 1,281
OME S A X It 22l 17,548
ocolgg 51,7603 x2H 118 12,216
oF X 51,760& x2H »25 2,588
oA Xt 51,760& x2Y »7 725
o=0dH=z S 4UEE s 15,529,000& *13% 2,019
201 LEt2 Y| 71,500 76,000 A4,500
01 A2 22| bl 67,000 67,000 0
OMEHIE2 &2 10,000,000& 10,000
OMEZANXI HBEE2 55,000,000 55,000
oOget2H| 2,000,000& 2,000
02 3524t 4,500 9,000 AN 4,500
o332= % HA 4,500,000& 4,500
802 Btet= D EF 2,000 2,000 0
0= 2,000 2,000 0
OMNEREEI LR Btz 2,000,000 2,000
SREFAANY B 76,463 95,685 ~19,222
201 LEt2 Y| 42,000 52,500 A 10,500
01 At 22l Yl 21,000 31,000 A 10,000
OE2YFA XYGotUiE XNI& Hal
6,000,000 6,000
o2 2 Mz 5,000,000& 5,000
O YBt+=gH| 7,000,000 7,000
oA 2 3,000,000 3,000
02 3524l 21,000 21,500 A 500
02222 2 MA 1,000,000& 1,000
OEZY CtUHAIE=E |RAES 20,000,000& 20,000
308 AXISHXMSO0IH 15,463 13,185 2,278
10 S 2SHUSTIANHHEAISY 15,463 13,185 2,278
O=ZINFAEEANAEY SIES 12,972,000& 12,972
OEZTYHEZFA JI2k FANES 2,491,000 2,491
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SH: RIRT D

B EXHE(ELNANL/X AL A
el EXl22 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
401 Al& Bl & 28I 19,000 30,000 A 11,000
01 A& HI 19,000 30,000 A 11,000
OE2YANLEE 4X 19,000
ocEZHE X 15,000, 000& 15,000
cl|IEZHSE AX 4,000,000& 4,000
324EFE 22 202,500 125,000 77,500
201 LBH2E | 67,500 70,000 A 2,500
02 3322l 67,500 70,000 A 2,500
O32t B2 AAH |RX 24 67,500,000& 67,500
401 Al BIZ 201 8] 50,000 0 50,000
01 A& HI 50,000 0 50,000
OLZANEE Xtz A 50,000,000& 50,000
405 XHobF S HI 85,000 55,000 30,000
01 AL =2 S H S| 85,000 55,000 30,000
Ozxl4 Doffaz &3da 2 65,000,000 65,000
OFRSUEESRANAE HAFZBLSS S/W
7 20,000,000& 20,000
Tate 2AE=z tUHAIE=E 44X 5,600 37,666 A 32,066
< 5,600
401 Al Bl 2B 5,600 37,666 A 32,066
= 5,600
01 A& HI 5,600 37,666 A 32,066
OS2 YeHLHAIZE &X 5,600,000 5,600
< 5,600
HY2AZH (ALK =D)(IIEH/IIEL) 78,320 72,560 5,760
Jl23l 78,320 72,560 5,760
JI23l 78,320 72,560 5,760
201 L2l 5,000 5,000 0
01 At 22l 5,000 5,000 0
OgBt+=&H| 3,000,000& 3,000
O= &l 2,000,000& 2,000
202 Odl 69,120 63,360 5,760
01 = LH 4 Hi 69,120 63,360 5,760
O=UEZ I 240,000& 128 x24H 69,120
203 YR =2t 4,200 4,200 0
04 NI 4,200 4,200 0
ORAN2EIRFAHI 350,000& 122 4,200




